PR REIEMNARESEEERE (R6.10~R7.3)

gr11-1

R6.10{R6.11|R6.12|R7.1 [R7.2 |R7.3 [&&t

MREEET 27 27| 37| 17| 14| 28] 150

1.8 16 16| 29| 10 10 20[ 101

S 5 5 4 3 3 71 27

M HE [3.55R 5 6 3 4 1 1 20
4.7 D 1 0 1 0 0 0 2

BET 271 27 37 17| 14| 28] 150
1.5R40ME = ip & 6 6 10 5 5 5| 37

2 FfEE & 6 6 2 4 1 7 26

WRE [3IEHEEE 2 2 5 4 1 2 16
4.7 Dty 13 13| 20 4 71 14 71

BET 27 271 37| 17| 14| 28] 150

1.ERA 7 71 10 0 2 gl 34

2. 5815k 11 2 10 2 41 10 39

3. AKIA 0 0 0 0 0 1 1

4 T 0 0 0 3 1 4 8
b.oipE R X — 2 6 8 7 2 2l 27
b.fEEEHAMEARTIEL Y 2 — 0 0 1 3 1 0 5
MARR|7T.REEE 5 1 0 0 0 1 7
8. RS 0 1 2 1 1 0 5
90.FENETIEFER 0 6 3 0 1 1 11

10 fEEEE AR IEEER 0 1 1 0 0 0 2

11481 HEER 1 2 0 0 1 1 5

12.%Z Dt 1 1 2 1 1 0 6

=51l 271 27 37| 17| 14| 28] 150

1.6 EHE. BhE 18] 18] 16 6 5 gl 71
2.HEEEENTIEEEA 1 1 0 0 0 0 2

3. ER BREPIEAA 2 2 1 0 0 3 8
¢%ﬁﬁi4%%%@%%7&—-@%%%ﬁm%§%ty&— 0 0 0 0 0 0 0
5.3 28BN 0 0 3 1 1 0 5

6. MBI IR 0 0 1 0 0 0 1

7.7 D 6 6] 16[ 10 gl 17 63

=51l 271 27 37| 17| 14| 28] 150

1.5 Bl E R AP 13| 13] 17 9 71 13 72

2.5 1% B IR R I AE R 0 0 7 1 1 1 10

3B ANEREICET B8 0 0 1 2 0 1 4

4% BNEORIFICET X 0 0 0 1 0 0 1
SRR REHEICEAT B 6 6 1 0 1 2 16
6.HEZHE(CBIT B 1 1 1 2 1 1 7
EHRAR 7.6 EABORZEEICEY 2185 3 3 0 4 1 0 11
8EBANFEORZRICET XK 0 0 0 0 0 0 0

ORI EHDEX HICET 1 0 0 0 0 1 0 1

10. B TiREE(CBI S B Ak 1 1 0 0 0 0 2
11.AsPREICET A& 0 0 0 0 0 1 1
REEBRETEICEATL L 0 0 2 2 0 1 5

13.Z2 Dt 7 71 19 6 6] 19| 64




